Be ready! For the bridegroom . ) .
will come quickly! - Chlidf‘ean"e\?_l/Or Sh’P :O:
u ‘
the 2 in each row that are the same. - n .ua:hew\zs:1.13

@F’arable of thw
(E N | Li/@ (z ,__._if Jesus told a story about some
/ 4  women going to a wedding.

i How many were in the story?
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5 of the women were wise.
They brought extra oil for their lamps.

5 bottles of oil in this picture. 6

5 of the women missed the wedding.
They were not ready. They were sad.

Draw their faces.
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Ages 7-12 . * Matthew 25:1-13

@able of the 10@7

The kingdom of heaven will be like
10 bridesmaids who took their lamps toc meet
the bridegroom. What happened?

Start at the center and foliow the arrows L
to fill in the blanks. Read Matthew 25:13.

Write the 1st letter of each object.
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What happened next?

Then what happened?

Solve the math problems. Then use the code lo continue the story.

1-A 7-H 12-0 17-U
2-B 8-1 13-P 18-V
3-D 9-L 14-R 19-wW
4-E 10-M 15-5 20-X
5-F 11-N 16-T 21-Y
6-G

Fill in the missing vowels.

eoeieaiaeaaaiiiOeeoo
ouueieoocoeieleoueulooou

bridesmaids were
243 444 949 242

3416 543 946 341

They brought for

143 1149 1244 747 21 6+6 4+4 544

their ) bridesmaids
6+3 32 5+5 1241 172 1+4 10-2 1345 51

were . They brought

4+1 745 547 6+3 543 1045 443

for their

6+5 943 14-2 7+1 6+3 10-1 241 743 1043 46

The bridesmaids iold them to
1247 11-3 161 62

__and _______ some. By the time they
3+3 646 5-3 1841 1744

, the

1044 7-3 1244 1146 945 121 62 2+1

had

18+1 143 5-2 2+1 6+2 1041 244

131 B+1 442 1314 121

The was a
8-5 B48 5+7 T+7 14+1 5+2 18-1 1046
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